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(i) Id"e(g r'2lEl.
ve V ;':1!S;:':'1::1:

(ii) The number of vertices of odd degree must be even.

,t:,)l:

1 of4

(07 Marks)



4a.

J ,':'::l

"r\.,' '.rria

,.. 
:i

5 a. The followi

C alculate the rairk'correlation

nig. Q+ @;.

ffrarks of 8 students tics and

b.

c.
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oR *s= **t'u

Let f :R -+ R be defined by, ,ii:t{ ='

[:x-s ifx>o
f(x) = { .... 

.,, 
x,[-3x+l if x<0 

*,
Find(1), t(-r, r-'(3),r-'(-s,s). ,,,.;1;.p4..;'" ,,,i:;-,,,,,, 

(06Marks)

Let A = {1,2,3,4),let R be a relation o&* defined by xRy iff>r/y affiy = 2x. write down

aa.

q
,iitlrlilt!.,; ::::

a'**, l,

;,f

(07 Marks)

(06 Marks)

(07 Marks)

the following

: axb forthe foltd.Vdfrrg data :

I
I

Y = ax2 + b{ih#iin the least square method. For

=6 *,1

c. a second degree

and hence esti atx=6.

lE:r, ''::::l

.s oR

(07 Marks)

6 a. Fit ight line in the fo f=,y = ax + b by the least square sense for the following data :

(06 Marks)

c for the following data:

."4

. 
$q.:::li.iiii

b.

Marks in

Fit a best fitting curve in the fo

a stralsht lme m

x 5 10 t5 20 &
3Gv 16 t9 23 26

Fit a best fitting parabola y = ax' + bx +

x I 2 3 '.# 5 6 7 8 9

Y 2 6 7 8 l0 ll l1 l0 9

Define Graph isomorphism. [}#rmlne whether the followfng graphs are isomorphic or not.
(07 Marks)
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c. The following table gives the hei ts of fathers

Calculate the coefficient of correlation and li glesslon. (07 Marks)

7 a. A random variable X has the followi function:

Find K, and evaluate ; P (x > 5) anefl3<x< 6 ). il., ", (06 Marks)
:

in ofPoisson distribution. "'Find the mean and standard dffidion ofPoisson distribution. "r (07 Marks)b.
o. In a test on electric bulbs,.it-s,vffii found that the life 9J a particular brand was distributed

normally with an averyry"i& of 2000 hours and $*Diffi60 hours, if a firm purchase 2500
bulbs find the number &ffrrlbs that are likely to lastffi$,*

(0 More thgn ?100 hours. .,i!,

8a. Find tt$ .%.lue of K such ttrat thP following distributio4.. represents a finite probability
distribution. Hence find its mean aq{ standard deviation.

(0 More than ?100 hours j!,

(ii) Less,th.g,r,rT950 hours. ,*.*(iii) BeM'M1900 to 2100 hours. ,,,".-', 
"' 

(07 Marks)

:r,,,,, 
t',,,, iqri

,. ..,,;,1t. - .,., ,"R

Find the mean and s

(06 Marks)
(07 Marks)

the chance
(07 Marks)

determine

X and Y of tilb joint probability ffiffiution :

(06 Marks)

fl:,il:"o
b.
c.

r;,.,.::L,,;,:- ,,,lYtrul€-5
9 a. Determine (i),Mfiiginal distribution"'@i) Covariance''between the discrete random variable

b. A machinist is making engine parts with axle diameter of 0.7 inch. A random sample of l0
parts shows mean diameter-O.l42 :r;,ch with a S.D of 0.04 inch. On the basis of this sample
would you say that the *ork is inferior? (07 Marks)

c. A die is thrown 264 times and the number appearing on the fact (x) follows the following
frequency distribq,tidn ;

\"..

Calculatethe Value of X2.

OR

buticn:
\Yx\

a
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1

12

I

12
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1

t2
1

t2
1

t2

x I 2 3 4 5 6

f 40 32 28 58 54 60
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10 a.

b.

Explain the terms : (i) Null hypothesis
(iii) Tpe I and Type II

Four coins are tossed 100 times and the fo

ffi'l 2 lll+l -.

,1.*r"*
Fit a binomial distributio, ro , k.;;.; 9.49for4 d.f)

c. The nine items of a sarrple Uur ffi*ing values : +5, +ffi ,48,47 , 49,;Y,yr:Til
Does the mean of these differ siffiffintly from the assume#ffibh of 47.5? (07 Marks)
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